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Name (Print Clearly): Student Number:

MTHI132 Section 1 & 12, Test 4
April 27,2009  Instructor: Dr. W. Wu

Instructions: Answer the following questions in the space provided. There is more than adequate
space provided to answer each question. The total time allowed for this quiz is 50 minutes.

1[5 pts each]. Find the derivatives (FTC I).
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2.[6 pts each]. Evaluate indefinite integrals.
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3. [7 pts each]. Evaluate the definite integrals.
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4.112ps). Let f(x)=x" +2x-3, =3<x<3.
3
(a) Compute Jf (x)dx
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(b) Find the total area enclosed by x-axis and the graph of f(x)over [-3,3]
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2 N
é? [10 pts] Set up a Riemann sum approximation to the integral J(xz +1)dx by partitioning the interval

0

[0,2] into 4 subintervals of equal length and using the left endpoint of each subinterval.

(a) Evaluate this sum.
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(b) Sketch the graph of y = x° +1 over[0,2]. Sketch (shade) the rectangles associated to this Riemann Sum
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(c) [bonus 2pts]. Express lim Z[— +1]-— as a definite integral.
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